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66 [ Transformer
67 | LP_TYP 534.6 uH Typical primary magnetizing inductance
68 | LP RANGE 507.9 - uH Range of primary magnetizing inductance
— 561.3 to ensure power delivery
69 [ LP_TOL 5.0 % Magnetizing inductance tolerance
70 | vor 1200 v Sgcondary wlndlng voltage reflected to the
primary winding
72 | Core/Bobbin Selection
Transformer core selection - refer to the
73 | CORE Custom Custom Transformer Parameters tab to verify fit
B-
74 | CORE CODE EE25- B-EE25-H Core code
H
75 | AE 41.0 41.0 mm”"2 Core cross sectional area
76 | LE 47.0 47.0 mm Core magnetic path length
77 | AL 2140 2140 nH/turns”2 | Ungapped core effective inductance
78 | VE 0 0 mm~3 Core volume
B-
79 | BOBBIN EE25- B-EE25-H Bobbin
H
80 [ AW 60.67 60.67 mm”2 Window area of the bobbin
81 | BW 10.72 10.72 mm Bobbin width
82 | MARGIN 0.00 0.00 mm Safety margin width (Half the primary to
secondary creepage distance)
84 | Winding Parameters
85 | NP 67 Primary winding number of turns
86 | NB 7 Bias winding number of turns
87 | NS 7 Secondary winding number of turns
88 [ BPEAK 0.3687 T Transformer core's peak flux density
89 | BMAX 0.1915 T Transformer core's operating flux density
Transformer core AC flux density (0.5 x
90 | BAC 0.0811 T Peak-Peak)
Gapped core effective inductance
N\
91 | ALG 119.1 nH/turns”2 (Typical)
92 | LG 0.41 mm Core gap length
95 | Output Stage
96 | Output 1
97 | vouTt1 12.00 | | Output voltage

et #$
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98 | IOUT1 2.00 2.00 Output current
99 | POUT1 24.00 Output power
100 | IRMS_SEC1 3.439 Secondary winding RMS current
101 | IRIPPLE_COUT1 2.798 Output capacitor ripple current
102 | NS1 7 Secondary winding number of turns
103 | VDSOFF_DIODE1 51.0 Qutput rectifier _off-'time voltage stress (not
incl. the parasitic ring)
104 | PN DIODE1 SB380 Suggested output rectifier schottky diode
105 | VRRM DIODE1L 80 Output rectifier rated reverse repetitive
— voltage
106 | VF_DIODE1 0.85 Output rectifier rated on-time voltage drop
107 | IF DIODE1 30 Output rectifier rated average forward
- current
109 [ Output 2
110 | VOUT2 5.00 5.00 Output voltage
111 | 1OUT2 0.50 0.50 Output current
112 | POUT2 2.50 Output power
113 | IRMS_SEC2 0.860 Secondary winding RMS current
114 | IRIPPLE_COUT2 0.699 Output capacitor ripple current
115 | NS2 3 Secondary winding number of turns
116 | VDSOFE DIODE2 217 Qutput rectifie_r_off—_time voltage stress (not
- incl. the parasitic ring)
117 | PN_DIODE2 SB240 Suggested output rectifier schottky diode
118 | VRRM_DIODE2 40 Output rectifier rated reverse repetitive
voltage
119 | VF DIODE2 0.5 Output rectifier rated on-time voltage drop
120 | IF_DIODE2 2 Output rectifier rated average forward
current
135 | POUT _TOTAL 26.5 Total output power
Select the negative output voltage index
136 | NEGATIVE OUTPUT N/A N/A (Eg. Select 3 if you want the 3rd output to
be negative)
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" "

, utput overvoltage condition was simulated by shorting LED of the optocoupler (U2) with
output at full load and minimum load. Overvoltage protection was implemented by
primary-side output overvoltage circuit VR2, D3, and R5.
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